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Midterm Review: 
• Antiderivatives
• L'Hospital's Rule
• Intermediate Value Theorem
• Mean Value Theorem
• Area and Volume

Approximations using rectangles
Approximation using trapezoidal rule
Riemann Summation
Area bound by curves
Volumes of revolution...

­disks
­washers
­shell method

Volumes from known cross­sections
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Review Package:

50 Multiple Choice Questions from AP Exams


AP Calculus 120

Review: Antiderivatives , Areas and Volumes


Multiple Choice










Instructions: Shade in the letter on the scantron sheet provided.
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